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IPre-Calculus 12A
Practice

L Multiple Choice: Place the letter corvesponding to the correct solution on the scantron sheet provided.

1. Express the following in exponential notation: log, M =0C

[A]B =C [BIM* =C [CIM* =& D16 =M
2. The value of log256 - loga? + log22 iz ..

[A]lag3l [B]1 [€12 [D]4
3. Iflog x? — log 2x = 2, then x equals. ..

[A]4 [B] 30 [C] 100 [ 200

4. Find all real solutions for the following equation: log, x+log,[x-2)=3

[Alx=3, -] [Blx=4 [Clx=4, -2 D]
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7. Jason has been collecting die-cast cars for several years and realizes that the value of each car increases
exponentially, with time. One car in his collection was purchased for $1.80 in 1970 and its value has doubled
every 6 vears since then. Which of the following equations could be used to model the value of the car (V) in
termg of the number of years (¥) since it was porchaszed?

[A] 7 =1.80{2) [B] V" =1.80{2) [C] V7 = 2(1.80)" [D] ¥ =2(1.80)z
2. Determine the value of x: log 16 = —%
el 1
A]-64 Bl [C] 64 D] -—

9. Solveforx; 3477 -1=23
A 1 E : c ! D 1
[A1-3 B~ [€1-3 D] 5
10. Cesium-137 is an exceptionally dangerous radicactive isotope with a half-life of 30 vears. How long would it take
for a zample of 800 mg of Cesium-137 to decay to 100 mg ?
[A] 3 vears [B] 120 years [C] 90 years [D] 60 years

11.If 3[logylog 107] =x , thenx iz equal to ...
[a]o0 [B]1 (€13 P12
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Pre-Calculus 12A 

Practice 

I. Multiple Choice: Place the letter corresponding to the correct solution on the scantron sheet provided.




1. Express the following in exponential notation:


[image: image1.wmf]C


M


b


=


log




[A]

[image: image2.wmf]C


b


M


=


 

[image: image3.wmf]

[B]

[image: image4.wmf]C


M


b


=




[C]

[image: image5.wmf]b


M


C


=




[D]

[image: image6.wmf]M


b


C


=


  


2. The value of log256 - log27 + log22 is ...


[A] log251

[B] 1


[C] 2


[D] 4


3. If log x2 – log 2x = 2, then x equals…


[A] 4


[B] 50


[C] 100


[D] 200


4. Find all real solutions for the following equation: 
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[A] x = 3 , -1 

[B] x = 4

[C] x = 4 , -2

[D] 
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5. Evaluate: 
10(log 5 + log 2 – log 100) 


[A] –1


[B] 10-1


[C] 1


[D] 10


 [C ] 
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6. The logarithmic expression log

[image: image11.wmf]÷


÷


ø


ö


ç


ç


è


æ


bc


a


3


 equals …


[A] 

[image: image12.wmf]c


b


a


log


log


2


log


3


1


+


-
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7. Jason has been collecting die-cast cars for several years and realizes that the value of each car increases 


      exponentially with time.  One car in his collection was purchased for $1.80 in 1970 and its value has doubled


      every 6 years since then.  Which of the following equations could be used to model the value of the car (V) in


      terms of the number of years (t) since it was purchased?


[A] 
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8. Determine the value of x: 
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[C] 64
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9. Solve for x :
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[A]
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[B]
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10. Cesium-137 is an exceptionally dangerous radioactive isotope with a half-life of 30 years.  How long would it take


      for a sample of 800 mg of Cesium-137 to decay to 100 mg ?


 
[A] 3 years

[B] 120 years

[C] 90 years

[D] 60 years


11. If   5[log2(log 10)] = x ,  then x is equal to ....


[A] 0


[B] 1


[C] 5


[D] 2


                     12. What is the vertical asymptote for :   
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     A.  x = -2       B.  x = 3        C. x = -3         D.   x = 11


II. Open Response: All work for each of the following must be shown in the space provided.     (37 Marks)

            1.  For the function   
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a) describe the transformations of the function when compared to the function 
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b) state the domain, the x and y-intercept and the equation of the asymptote

c) sketch

2.  A cup of coffee contains approximately 100 mg of caffeine.  When you drink coffee, the caffeine is 

     absorbed into the bloodstream and eventually metabolized by the body.  Every three hours the amount of 

     caffeine in the bloodstream is reduced by 42 %.


a) Write an equation which express the amount of caffeine, C (in mg), in the bloodstream as an exponential 

    function of the elapsed time, t (in hours), since drinking one cup of coffee.

  



b) Find the amount of caffeine in the bloodstream after 8 hours.

  



c) How many hours (accurate to the nearest hundredth) does it take for the amount of caffeine to be 

     reduced to 10 mg?  
        








            


3.  Solve for x in each of the following equations:  a.  
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                                                                                  b.  
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                                                        c.  

[image: image34.wmf]2


3


log


9


-


=


x




                                                               d. 

[image: image35.wmf]4


256


log


2


=


x




4. Evaluate:    


         a. 

[image: image36.wmf]20


2


32


log


                                             b. 

[image: image37.wmf]2


log


4


log


2


10


log


18


log


15


log


6


6


6


6


6


-


+


-


+


                         


5. a) Given that 
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 , evaluate the expression 
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 6.  Express the following as a single logarithm in simplest form:


a.  
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 b  
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7. Suppose there are 25 coyotes in one area of NB right now. If this population is known to triple 

    every 5 years, how long will it take, to the nearest month, for the population to reach 2588 

     animals?
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